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Adattáblázat

Fénysebesség	vákuumban c =		 299	792	458	m ⋅ s−1
Vákuum	permeabilitása μ0 = 4π	 × 	 	kg ⋅ m ⋅ ⋅10−7 A−2 s−2
Vákuum	permittivitása ε0 = 8.854	187	817	 × 	 ⋅ ⋅ k ⋅10−12 A2 s4 g−1 m−3

Elemi	töltés e = 1.602	176	620	8(98)	 × 	 	A ⋅ s10−19
Elektron	tömege me = 9.109	383	56(11)	 × 	 	kg10−31
	 	 = 0.510	998	946	1(31)	MeV/c2
Proton	tömege mp = 1.672	621	898(21)	 × 	 	kg10−27
	 	 = 938.272	081	3(58)	MeV/c2
Neutron	tömege mn = 1.674	927	471(21)	 × 	 	kg10−27
	 	 = 939.565	413	3(58)	MeV/c2
Atomi	tömegállandó u = 1.660	539	040(20)	 × 	 kg10−27
Rydberg-állandót R∞ = 	10	973	731.568	508(65)	m−1

Gravitációs	állandó G = 6.674	08(31)	 × 	 	 ⋅ k ⋅10−11 m3 g−1 s−2
Gravitációs	gyorsulás g = 	9.81	m ⋅ s−2
Planck-állandó h = 	6.626	070	040	(81)	 × 	 	kg ⋅ ⋅10−34 m2 s−1
Avogadro-szám NA = 	6.022	140	857	(74)	 × 	 	mo1023 l−1
Moláris	gázállandó R = 	8.314	4598(48)	kg ⋅ 	 ⋅ ⋅ mo ⋅m2 s−2 l−1 K−1

Moláris	tömegállandó Mu = 	1	 × 	 	kg ⋅ mo10−3 l−1
Boltzmann-állandó kB = 1.380	548	52(79)	 × 	 	kg ⋅ ⋅ ⋅10−23 m2 s−2 K−1

Stefan-Boltzmann-	állandó σ = 5.670	367	(13)	 × 	 	kg ⋅ 	 ⋅10−8 s−3 K−4
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